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A knot diagra ey T g 9 4 4 1 1 P 7 P 10 o 661111% 35 C5, C10

Ideals for irreducible component#ﬂ)f Xpar

It = (4.93541 x 103200 + 2.04760 x 103203 + - - 4 1.23008 x 10**b — 8.08350 x 103,
1.21871 x 10%3 4% — 1.85520 x 10303 + - - - 4 2.46016 x 10%3a + 1.04083 x 1034, u*! — 440 +

IV=(a, b—1, v* =03 + 02 +1)

* 2 irreducible components of dim¢ = 0, with total 45 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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I.

= (4.94 X 1032440 4-2.05 x 1032432 +. .. 4+1.23 x 10336 — 8.08 x 1033, 1.22 x

1033U40

(i) Arc colorings
()
)

;)

ag =
ag =
az =
a5 =

ag =

a; =

ud Jru)

0.181324u*" + 0.551451u3? + -
0.175096u° + 0.49304107 + -

0.2959420%° + 0.237376u3° + -
0.311321u*0 —

0.248888u%0 — 0.460318u3° + -
0.0375077u40 —

0.248888u*0 —
0.0375077u*0

(v
(-
C
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w0
-
(v
(
- (-
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ail =

ayp = <_

(ii) Obstruction class = —1

(iii) Cusp Shapes = 0.312617u*" + 1.81495u3% + - - -

—1.86x1033u3%4...4+2.46x1033a+1.04x 1034, u4!

0.495378u4° + 0.754100u3° + - - -
0.401227u*" — 0.166461u3 + - - -

0.00964588u*" + 0.868205u + - - -
0.279000u4° + 0.570378u3" + - - -

0.896605u4° + 0.587639u° + - - -
0.401227u° — 0.166461u3° + - - -

0.896605u40 + 0.587639u39 + - - -
0.623981u40 + 0.594016u3 + - - -

0.0909921u39 + -

0.244171u30 + -

0.460318u3 + - - -
—0.244171u3% + - -+

—ut0+...4+8u—16)

+ 8.36593u — 4.23073
+ 3.25878u + 6.57153

+ 3.33085u — 12.4271
+ 6.14986u — 4.36198

+ 11.6247u + 2.34080
+ 3.25878u + 6.57153

+ 11.6247u + 2.34080
+ 8.61517u — 1.62808

-+ 0.442667u — 9.89004
-+ 5.13059u — 4.57783

-+ 3.40554u + 0.455300
-4 2.02971u + 5.46031

—0.398174u + 9.13315
— 1.75912u + 2.99026

—0.398174u + 9.13315
— 1.75912u + 2.99026

+ 9.58739u — 33.8289



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C3,Cy uM =50 —3u 1
Ca,C7 ut w4 4 8u+ 16
C5,C6, Co utt Lot 3y —1
C10
Cg ut 4+ 200 4 - — 20u — 100
11 ut — 120" + -+ 549u — 131




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C3,C4 941_41940+_13y_1
2,7 y*t + 2790 + ... — 960y — 256
C5,Ce, C9 A8y Ty — 1
C10
cs y*t — 24y*0 + ... — 163800y — 10000
11 y* — 12970 ... 4112237y — 17161




(vi) Complex Volumes and Cusp Shapes

Solutions to I} V—1(vol +/=1CS) Cusp shape
u= 1.04360
a = —0.918815 —3.09864 —0.703580
b= 1.34522

u = —0.280650 4 1.0323007
a= 0.113218 — 0.9453261
b= 0.451556 + 0.6805401

—0.98467 — 2.160411

0.30534 + 3.366011

u = —0.280650 — 1.0323007
a= 0.113218 4 0.9453261
b= 0.451556 — 0.6805401

—0.98467 4 2.160411

0.30534 — 3.366011

u = —0.636469 4 0.6763561
a = —0.663046 4 0.390386.1
b= 1.123470 — 0.3208231

—8.62893 4 1.182341

—6.12242 + 0.096801

u = —0.636469 — 0.6763561
a = —0.663046 — 0.390386.1
b= 1.123470 + 0.3208231

—8.62893 — 1.182341

—6.12242 — 0.096801

u = 0.067485 4 1.0877201
a = —1.345840 — 0.2686021
b= —1.365970 + 0.0319391

—3.50700 + 1.957851

—4.15911 — 3.791951

u = 0.067485 — 1.0877201
a = —1.345840 + 0.2686021
b= —1.365970 — 0.0319391

—3.50700 — 1.957851

—4.15911 + 3.791951

u = 0.053492 4 1.0970101
a = —0.119204 4 0.8612241
b= 0.644526 — 0.6527211

—3.46087 — 0.571261

—6.38744 + 1.360321

u = 0.053492 — 1.0970101
a = —0.119204 — 0.8612241
b= 0.644526 + 0.6527211

—3.46087 + 0.571261

—6.38744 — 1.360321

u = —0.231068 + 1.0762201
a = —1.18409 + 0.885521
b = —1.359660 — 0.1096951

—9.84300 — 4.445801

—7.49047 + 4.009821




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

u = —0.231068 — 1.0762201
a = —1.18409 — 0.885521
b = —1.359660 + 0.1096951

—9.84300 + 4.445801

—7.49047 — 4.009821

0.575963 + 0.6811431
0.654397 + 0.9858331
0.064994 — 0.5883851

u =
a =

b:

—5.44874 + 2.200511

—0.49288 — 3.583871

0.575963 — 0.6811431
0.654397 — 0.9858331
0.064994 + 0.5883851

S
[

—5.44874 — 2.200511

—0.49288 + 3.583871

—1.179440 4 0.1583621
—0.994717 + 0.0883961
1.409360 — 0.0754171

—5.20973 + 3.103081

—5.68137 — 4.556771

—1.179440 — 0.1583621
—0.994717 — 0.0883961
1.409360 + 0.0754171

—5.20973 — 3.103081

—5.68137 + 4.556771

0.353950 + 1.1595001
0.079020 + 1.0892301
0.450262 — 0.7979951

—2.77750 + 5.517561

—3.79773 — 7.775641

0.353950 — 1.1595001
0.079020 — 1.0892301
0.450262 + 0.7979951

—2.77750 — 5.517561

—3.79773 + 7.775641

0.005676 + 1.2272501
—0.228021 — 0.9421711
0.720117 + 0.7325891

—11.55890 + 2.266221

—7.69126 — 0.185721

0.005676 — 1.2272501
—0.228021 4 0.9421711
0.720117 — 0.7325891

—11.55890 — 2.266221

—7.69126 + 0.185721

—0.383325 + 1.2444901
0.043543 — 1.1637101
0.463101 + 0.8643871

> Q& €|l & €| & €| Q& | Q& 8| Q@ 8| & | ©
I

—10.75100 — 7.679611

—5.88345 + 5.748161




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

= —0.383325 — 1.2444901
0.043543 + 1.1637101
0.463101 — 0.8643871

—10.75100 4 7.679611

—5.88345 — 5.748161

1.287610 + 0.2022321
—1.055360 — 0.1124491
1.46107 + 0.096541

—13.2971 — 5.07401

—7.49177 4 2.863951

1.287610 — 0.2022321
= —1.055360 + 0.1124491
1.46107 — 0.096541

—13.2971 4 5.07401

—7.49177 — 2.863951

—0.637500 + 0.1357341
1.71237 — 0.804951
—0.363345 + 0.2580871

—7.29387 + 3.701401

0.13489 — 3.242111

—0.637500 — 0.1357341
1.71237 4 0.804951
—0.363345 — 0.2580871

—7.29387 — 3.701401

0.13489 + 3.242111

—0.442927 + 0.4464511
0.885936 — 0.6637791
0.002285 + 0.3519141

0.739118 — 0.9632941

5.38374 4 5.249511

—0.442927 — 0.4464511
0.885936 + 0.6637791
0.002285 — 0.3519141

0.739118 + 0.9632941

5.38374 — 5.249511

0.545126 + 0.2152411
1.37573 4 0.631891
—0.218730 — 0.2547001

0.06188 — 1.895061

3.00107 + 4.965081

0.545126 — 0.2152411
1.37573 — 0.631891
—0.218730 + 0.2547001

0.06188 + 1.895061

3.00107 — 4.965081

0.332351 + 0.4735941
—0.483789 — 0.2099181
0.984199 + 0.1676397

>~ Q@ €| Q@ €|l & €| & &8 Q& 8|l & 8|l & 8|l & 8|l & 8| o g
Il

—1.84031 — 0.692581

—6.89864 — 1.748841




Solutions to I7*

V=1 (vol + y/=1CS)

Cusp shape

= 0.332351 — 0.4735941
= —0.483789 + 0.2099181
0.984199 — 0.1676391

—1.84031 + 0.692581

—6.89864 + 1.748841

0.52227 + 1.356431
= —0.110639 — 1.0640901
—1.49556 + 0.250901

—7.31234 + 5.602101

0.52227 — 1.356431
= —0.110639 + 1.0640901
= —1.49556 — 0.250901

—7.31234 — 5.602101

= —0.41034 + 1.423001
= —0.140257 + 0.816586.1
—1.52685 — 0.196091

—10.55130 — 2.411807

= —0.41034 — 1.423007
= —0.140257 — 0.8165861
—1.52685 + 0.196091

—10.55130 + 2.411807

—0.60199 + 1.382071
0.024627 + 1.1337901
—1.50901 — 0.289511

—9.13999 — 9.487391

—0.60199 — 1.382071
0.024627 — 1.1337901
—1.50901 + 0.289511

—9.13999 + 9.487391

0.65669 + 1.414571
0.127888 — 1.1552401
—1.52575 4 0.315741

—17.2037 + 11.98771

0.65669 — 1.414571
0.127888 + 1.1552401
—1.52575 — 0.315741

—17.2037 — 11.98771

0.38128 + 1.539831
0.017651 — 0.6677781
—1.58265 + 0.181171

u
a
b
u
a
b
u
a
b
u
a
b
u
a
b
u
a
b
u
a
b
u
a
b
u
a
b
u
a
b

—19.3092 + 0.95831




Solutions to I} v—1(vol +v/—1CS) | Cusp shape
u= 0.38128 — 1.539831
a= 0.017651 4 0.6677781 | —19.3092 — 0.95831 0

b= —1.58265 — 0.181171




II. I? = (a, b—1, v* —v®> +v? 4+ 1)

(i) Arc colorings

= (o)

ag —
az =
a5 =

ag =

[

ail =

(
(
(
(
-
(
(
(
(
(

2
a1 =\ —p? -1

(ii) Obstruction class =1

(iii) Cusp Shapes = 4v% — 5v — 1
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€ (u—1)*
ca, C7 u?
C3,C4 (u+1)*
Cs,Co W ud+ 3+ 2u+1
€8, C11 ut—ud+u?+1
Cg, C10 u —ud 4+ 3u? —2u+1
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C3,C4 (y_ 1)4
C2,C7 y4
Cs, Cg, Cg y4+5y3+7y2+2y+1
C10
cs, C11 v Y+ 3+ 2y + 1
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(vi) Complex Volumes and Cusp Shapes

Solutions to I7

V=1 (vol + y=1CS)

Cusp shape

v=—

0.351808 + 0.7203421

= 0 —1.43393 + 1.415101 | —0.82145 — 5.629081
b= 1.00000

= —0.351808 — 0.7203421

= 0 —1.43393 — 1.415101 | —0.82145 + 5.629081
b= 1.00000

= 0.851808 + 0.9112921

= 0 —8.43568 — 3.163961 | —5.67855 4 1.653511
b= 1.00000
v=0.851808 —0.911292]
a 0 —8.43568 + 3.163961 | —5.67855 — 1.653511
b 1.00000
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ITI. u-Polynomials

Crossings u-Polynomials at each crossing

! (u— D" —5u* 4 —3u+1)

€2, C7 ut (utt +ut® 4 - 4 8u + 16)

3, Cq (u+ D)W = 5u* 4 —3u+1)

C5, Co (u* 4+ u® 4 3u® + 2u+ 1) (u™ + 20 + - —3u —1)
cs (ut — ud +u? + 1) (u + 20 + - - — 20u — 100)

€9, €10 (u —u® 4+ 3u? — 2u+ 1) (u™ + 20 + - —3u—1)
i1 (u* —u® +u? + 1) (u*t — 120 + - 4 549u — 131)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
€1,C3,C4 (y—DH(y*" —41y* 4 — 13y — 1)
Cs,Cr y (y™ 27y - — 960y — 256)
057667;2 (y4 + 5y3 + 7y2 + 2y + 1)(y41 + 48y40 +o =Ty —1)
“s (y* + % 4 3y + 2y + 1) (y*! — 245*° + ... — 163800y — 10000)
1 (y* + % + 3y + 2y + 1) (y* — 1240 + -+ 4+ 112237y — 17161)
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